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Written Work 
 

 
 

ENGLISH :  1.  Scrap book work 

 TOPIC – Seek satisfaction in everything!!! 
 Click pictures of the following and write your emotions when you see them- 

 Sunrise sunset, blooming flower, trees,  your mom while cooking, father when getting ready for office, 

siblings when dozing off, street dogs, surprise by friends, etc. Appreciate the world around you and be 

close to find yourself. 

 Pictures : 20-30 

  

2. Write article on :  a) Cybercrimes (Roll no. 1 - 10) 

    b)  Human Rights (Roll no. 11 - 20) 

    c) Role of women in growing society (Roll no. 21 - 30 ) 

    d) Four Pillars of  Democracy (Roll no.31 - 40) 

 

Revise the covered Syllabus. 
 

 

 fgUnh  %  1- ^Ygklk dh vksj* ;k=k o`rkar ds vk/kkj ij vius }kjk dh xbZ fdlh ;k=k dk 

        vius 'kCnksa esa o.kZu dhft,A 

 

     2-  ns’k esa gksus okyh fofHkUu leL;kvksa dks /;ku esa j[krs gq, fdlh ,d leL;k ij 

         nks fe=ksa ds e/; laokn ys[ku dhft,A 

 

Revise the covered Syllabus. 
 

MATHS 
 

 

Chapter 1 Number System : 

 

Q.1 Write the relation between a and b if  = 1 . 

Q.2 Find the value of x and y if  
5 2 5 2
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Q.3 Represent 3.7264 on number line using linear magnification. 

Q.4 Convert the following decimals into 
p

q
 form. Where p and q are integers , q ≠ 0. 

 (a) 3.1   (b) 35.103   (c) 4.31  (d) 2.6  

Q.5 Convert  (a+b)  into 
p

q
 form if a = 1.32  and b = 0.35 . 

Q.6 Represent 8.7 on  number line using compass and ruler. 

Q.7 Prove that: 
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Q.8 Given 4725 = 3
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Chapter 3 Coordinate Geometry 
PTO 
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Q.1 Categorize the following point according to their quadrant or axis – 

 (a) (-4,3) (b) (0,3) (c) (1,-7) (d) (0,5/3) (e) (1,1) (f) (-0.2,-0.7)  
 

Q.2 Find out the following for the point (-3,8): 

 (a) Abscissa    (b) Ordinate       

(c) quadrant    (d) Normal distance from X axis    

(e) Normal distance from y axis 
 

Q.3 Plot the following points on graph , join all these points , what type of figure will you obtain. 

 (a) (-2,6) (b) (5,-3) (c) (-3,-3) (d) (3,6)  

 Also check whether the  points (-2,-5) and (3,9) will lie on the figure or not ? 
 

Chapter 14 Statistics 
 

Q.1 If the mean of the following distribution is 6, then find the value of p.  

x 2  4  6  10  p+5  

f 3  2  3  1  2 
 

Q.2 If the mean of five observations x, x+2, x+4, x+6, x+8 is 11 find the mean of first three observation. 
 

Q.3 The mean of 5 numbers is 18. If one number is excluded, their mean is 16, find the excluded number. 

 

Q.4 The following observations have been arranged in ascending order. If the median of the data is 63, find the 

value of x. 29, 32, 48, 50, x, x+2, 72, 78, 84, 95. 
 

Q.5 A random survey of the number of children of various age groups playing in a park was found as follows:  

Age(in years) 5-7 7-10 10-15 15-17 17-19 

No. of children 12 9 10 4 6 

 Make a class marks column. Draw the histogram and frequency polygon of the given information on the graph 

paper. 
 

Q.6 The mean of the following distribution is 50. 

Xi 10 30 50 70 90 

Fi  17 5p+3 32 7p-11 19 
 

Q.7 The temperature in ° F on 20 days during the month of June was as follows:  

70° F, 76° F, 76° F, 74 ° F, 70° F, 70° F, 72° F, 74° F, 78° F, 80° F, 74° F, 74° F, 78° F, 76° F, 78° F, 76° F, 

74° F, 78° F, 80° F, 76° F  

Make the frequency distribution table. What is the mean, median and mode of the temperatures for the 20 

days of the month of June?  

 

Chapter 15 Probability 

 

Q.1 A tyre manufacturing company kept a record of the distance covered before a tyre needed to be replaced. The 

table shows the results of 1000 cases.  

Distance (in km)  less than 4000  4000 to 9000   9001 to 14000  more than 14000 

Frequency         20          210           325   445  

If you buy a tyre of this company, what is the probability that : 

(a) It will need to be replaced before it has covered 4000 km?  

(b) It will last more than 9000 km? 

(c) It will need to be replaced after it has covered somewhere between 4000 km and 14000 km? 

 

Q.2 Three coins are tossed simultaneously 200 times with the following frequencies of different outcomes: 

Outcome   3 heads   2 heads   1 head    No head  

Frequency   23    72    77    28  

If the three coins are simultaneously tossed again, compute the probability of getting– 

(a) 2 Heads (b) 3 tails (c) atleast 2 heads. 

 

Q.3 What will be the probability of choosing a family randomly out of 400 families with 0,1,2,3 children. 

No. of children 0 1 2 3 

No. of families 30 140 60 70 

(a) Family with 0 children (b) Family with 1 children  

(c) Family with 2 children (d) Family with more than 1 child 



Q.4 A survey conducted by an organiszation for the cause of illness and death among the women between the ages 

15 - 44 (in years) out of 1000 women  worldwide, found the following figures (in number):  

  

S.No. Causes      Female fatality rate (%)  

1. Reproductive health conditions    175  

2.  Neuropsychiatric conditions    125  

3.  Injuries      150 

4.  Cardiovascular conditions    450 

5.  Respiratory conditions     100 

 

Find the probability that the cause of illness or death is-  

(a) Reproductive health conditions 

(b) Cardiovascular or neuropsychiatric conditions 

(c) Not injuries 
 

 

Revise the covered Syllabus. 
 

SOCIAL SCIENCE 

 

 IX A : 3 D model on features made by rivers. (Ex. : Ox-Bow Lake, Meandee, Delta) 

 IX B : Working model- paper mache smoking & foaming volcano 

 IX C : Model of step farming in hills. (Mixed Cropping, Inter Cropping) 

 

Revise the covered Syllabus. 
 

SCIENCE:  PROJECTS : 

 

A. Water conservation- Drip irrigation/Rain water harvesting working model 

B. Automatic/ solar street light- prepare working model 

C. E waste management 

D. Transformation of energy 

E. Sustainable development –Suggestion supportive ideas 

F. Solar system – Solar Eclipse / Lunar Eclipse  

 

IX A :  Project B and D 

IX B :    Project A and F 

IX C :    Project C and E 

 

Prepare project report and presentation. 

Revise the covered Syllabus. 
 

INFORMATION TECHNOLOGY (IT) 
 

1. Make  the powerpoint presentation on any topic .  

2. Maintain your practical file. 

3. Do the question answers of Unit II in copy. 

4. Learn the solved questions of  Unit II given in book. 

5. Complete the all exercises of Unit I given in book. 
       

Revise the covered Syllabus. 
 
 

    Note : All holiday home-work should be done in a separate File. 
 

 

Wednesday, 27th June, 2018   School re-opens after Summer break. 

Timings     07:50 a.m. to 01:30 p.m. 
 
 

Office will remain open during Summer Vacation. 

Contact school office from : 08:00 a.m. to 12:00 Noon. 

 

 
Mrs. Anu Bhatia          Mrs. Meena Singh 

Principal           Director Academics  
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Written Work 
 
 

ENGLISH :    1. Prepare self-written articles, poems and stories based on social, national, international 

and current issues to be published in the daily newspaper, The Times of India. 

 2. As an editor of an English newspaper, prepare newspaper highlighting all the columns 

using colourful pictures. 

Revise the covered Syllabus. 

 

 fgUnh  % 1- viuh ikB~;iqLrd ^d`frdk* dks if<+, rFkk ml ij vk/kkfjr fn, x, dk;Z dks fu;ec) rjhds 

      ls laikfnr dhft,A 

 

    1- ekrk dk vkapy    2- tktZ iape dh ukd    3- lkuk&lkuk gkFk tksfM+ 
 

   rhuksa IkkBksa esa ls fdlh ,d ikB dks vk/kkj cukdj dFkkud (Script) laokn ds :Ik esa fuekZ.k 

   dfj, rFkk izpkj&izlkj gsrq foKkiu dh lfp= o jaxhu jpuk dhft,A 

 

   2- fganh lekpkj&i= dk fuekZ.k dhft, rFkk ;g Hkh /;ku jf[k, fd mlesa izlax] Kkuo)Zd] igsyh] 

      ys[k] dfork vkfn dks Hkh layXu djsaA (A-3 Size, No. of Pages 4) 
Revise the covered Syllabus. 
 

SCIENCE 

General Instructions : 
 

1. 20 Students will prepare a model and a chart on the allotted topics. there will be 5 groups of 4 students each for 

model making. 
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MATHS 
 

Chapter 1 Real Numbers 

 

Q.1 If the H C F of 657 and 963 is expressible in the form of 657x + 963 (- 15) find x. 

Q.2 Solve √18x √50. What type of number is it, rational or irrational? 

Q.3 Prove that 
1

2 5
 is irrational number. 

Q.4 Without actually performing the long division, find if 987/10500 will have terminating or non-terminating 

(repeating) decimal expansion. Give reasons for your answer. 

Q.5 Show that cube of any positive integer is of the form 4m, 4m + 1 or 4m + 3, for some integer m. 

Q.6 Find out the largest number which divides 245 and 1037 , having remainder 5 in each case? 

Q.7 Three pieces of timber 42m, 49m and 63m long have to be divided into planks of the same length . What will 

be the greatest possible length of each plank. How many planks are formed ? 

Q.8 Find the HCF of the following by Euclid Division lemma. 

 (a) 129, 545 (b)504 and 735 (c) 252 and 594 

 

Chapter 2 Polynomials 

 

Q.1 Divide 30x
4
 +11x

3
-82x

2
-12x-48 by (3x

2
 +2x-4) and verify the result by division algorithm. 

Q.2 Given that √2 is a zero of the cubic polynomial 6x
3
 + √2 x

2
 – 10x – 4 √2 , find its other two zeroes. 

Q.3 Find the polynomial , sum of whose roots is √2 and product is 1/3. 

Q.4 If (x+a) is  a factor of 2x
2
 + 2ax + 5x +10 , Find the value of a . 

Q.5 Compare the following Quadratic Polynomials with form ax
2
 + bx + c and find the value of a, b and c . Also 

factorize the following and find their zeroes.Verify the relationship between zeroes and coefficients. 

 (a) 5x
2
 -4 – 8x    (b) x

2
 + 3x -10    (c) x

2
 -2x -8 

Q.6 If – 2 is a zero of the polynomial 3x
2
 + 4x +2k , Find the value of k. 

Q.7 Obtain all zeroes of the polynomial 2x
4
 -11x

3
 +7x

2
 +13x -7 , it being given that the two of its zeroes are  

3 + √2 and 3 - √2 . 

Q.8 Find all zeroes of x
4
 + 4x

3
 – 2x

2
 - 20x – 15, if two of its zeroes are √5 and – √5. 

 

Chapter 14  Statistics 

 

Q.1 The following table gives the literacy rate (in percentage) of some  cities. If the mean literacy rate is  69.43. 

Find out value of f to nearest integer.          

Literacy rate (in %)  45 - 55     55 - 65      65 - 75  75 - 85          85 - 95  

Number of cities       3            10   f       8   3 

 

Q.2 A student noted the number of cars passing through a spot on a road for some periods, each of 3 minutes and 

summarized it in the table given below. Find the value of f, if mode of the data is 44.7. Given that highest 

frequency of the data is f.  

Number of cars  0 - 10  10 - 20       20 - 30  30 - 40      40 - 50       50 - 60         60 - 70      70 - 80 

Frequency    7  14   13  12   f  11   15     8 

 

Q.3 The following table shows the ages of the patients admitted in a hospital during a year:  

Age (in years)    5 - 15     15 – 25    25 - 35    35 - 45   45 – 55   55 - 65  

Number of patients   6      11         21   23    14       5  

Draw the less than ogive curve. Find the median of the data and compare it with the point drawn on the less 

thanogive curve for median of the data. 

 

Chapter 15 Probability 

 

Q.1 Explain the following events with the help of a practical examples. (take the experiment of throwing a dice) 

 (a) Equally likely events (b) Sure Event  (c) Impossible Event (d) Complementary Event 

Q.2 Three fair coins are tossed simultaneously .Write down the sample space of the experiment. Also find out the 

probability of the following: 

 (a) Getting exactly two Heads  (b) Getting atleast two heads (c) Getting atmost two heads 

 (d) No heads at all   (e) getting one tail  (f) getting exactly 1 tail and 2 heads

  



Q.3 Two fair dice are thrown simultaneously, Write down the sample space of the experiment. Find the probability 

of the following events: 

 (a) Getting a sum of more than 10 (b) Getting a doublet (c) Getting a sum equal to a prime number 

 (d) Getting a multiple of 3 on either die (e) Getting a sum of 10 

 

Q.4 A card is chosen from a well shuffled deck of cards randomly. Find out the probability of the following events 

: 

 (a) Getting an ace (b) Getting a black face card (c) Getting a number less than 2 of spade or diamond 

 (d) Getting a Red card  (e) Getting a jack of heart diamond or club (f) getting any of card of any 

suit 

 

Q.5 A jar contains 24 marbles, some are green and others are blue. If a marble is drawn at random from the jar, the 

probability that it is green is 2/3 . Find the number of blue marbles in the jar. Also Find out the probability of 

getting blue marble from the jar. 

 

Q.6 An integer is chosen at random from the first two hundreds digit. What is the probability that the integer 

chosen is divisible by 6 or 8 

 

Revise the covered Syllabus. 

 
 

 

SOCIAL SCIENCE: 

 

 Make a project on the following topic :  Money and credit 

 

Revise the covered Syllabus. 
 

 
 

    Note : All holiday home-work should be done in a separate File. 
 

 

Wednesday, 27th June, 2018   School re-opens after Summer break. 

Timings     07:50 a.m. to 01:30 p.m. 
 
 

Office will remain open during Summer Vacation. 

Contact school office from : 08:00 a.m. to 12:00 Noon. 

 

 

 

 

 

 

 

 
Mrs. Anu Bhatia          Mrs. Meena Singh 

Principal           Director Academics  

 

 

 

 


